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Prove.

1 1
1+cosx 1-—cosx

LRSS = L l-=cosx _ __ | _ [Hcosx
¢+ cosx) (Feosxy  (I-cosx) (14+cos5

= I-cosx—((-l-(“’b = ~-2Qcosx

= —2cotxcscx

[-cos®™* Sintx
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Find all solutions (in radians) in the interval 0 < x < 2m.

cosSx—I—\/;:O

7.1 The Law of Sines, connued

ASS — Problematic Triangle
14.B=32°,c=14,b =9
Case1l:C =~ 55.5° 4 =~ 92.5° ,a ~ 17

Cose2 botom right /-
IS SUPP)eJV\UC( ot case j_
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16.A =42°,a=12,c =18

5 2 ASS-0,) 62
C"\ V[ \e=12 &("‘\W\S
A %2
sinC _sinA -1 <|% s'\n"a)
c o < sin 2

Wy does +his AS S —h"\aos\e have

Onl\tj one SolutHon?
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Wiy does +his ASS —h"\ans\e have

Onlﬁ one Solutian?

The meastre of O and the ler\sﬂ\s ot x&j
Qre fixed. ""‘wc'lrs-lorppog;-\-;on Y, e

Measure of & changes | unlike in the_
&-soluthion ase. :

b S ’
bs
p

18.B = 22.6°,b = 5.55,a = 13.8
c ASS -0, l,0r 2

b= 5,55 Solutions
& ~ Aa

A
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sinA _ ”"’%;"' / cose2
3 sS 0 0
s:n:= 138 sin22.6 IA\ = |30 -72A
Aw,-_«csgg?,ﬁ.) = \0?1
C=180-A-B
C=go=-7q-226°| =180 IR.I"-22.(
845" =[50.3°
-2 c _555
A "SharGe | Fns0 et
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7.2 - The Law of Cosines

*z Y2
Derivation: Cx,ﬂ)
mc :-g- a c
S W NN A
I =29 a,O
Distance Formula: 2_ 212
d \/ (X, = x1)? + (y, —y1)? é’?};ﬁ-&b‘.bt
-<&"Xc3 +(31-3|)

c'= (X-ﬂ-) +(y- o) (b cos(C - )-l—(‘os'ﬂcj

=(BeosC ‘2abcosC:l'a\) +BsitC
=& +b (sitCtco@ M) -
+b (SQS;?)&J c) bcosC

The Law of Cosines
azb+C’ -2 be-casA
bz=d+cz-2ac-co55
Cz-’-a?-l—bz-—,?ab-cos C_

used Tor SST & JAS

April 30, 2013
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7.2 Handout:

16.a = 60,b =88,c = 120. B =?

2 2
ot A L /b0 +120~3%
B=cos” “_____';icb >=c05<2 wo)(i20)

) °°5-'<(00"2+|20'~2 -83~2) /

(Q-Hoo*(zo3> z@

7.1/7.2 Area of a Triangle
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Find the area of the triangle.

A=50°b=13cm,c =6cm

Handout Homework:

7.1 #13-21 odd
7.2 #9-19 odd, Z5=

April 30, 2013



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

